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A56: Graphing Rational Functions Round 2

Notes: 27.3 Key Features of Rational Graphs (when can’t use translations)

y-intercept
It is a point: (@, )

Find y-value whenx = 0

x-intercept
Itis a point: (x, )

Find x-value when numerator = 0

Top

Vertical asymptote

ltisaline:x = #

Find x-value when denominator = 0

bottom

A vertical asymptote can NEVER be crossed

T

5 = undefinied

Horizontal asymptote

Itisaline:y = #

FOR TODAY ONLY*: leading coefficient

" leading coefficient 5 %

A horizontal asymptote CAN be crossed (but not in

any of the functions I’ll give you in Algebra 2...wait
for Precalculus for that!)

< *See notes for 29.3/29.4 for mare

A 4

Graph the function by identifying the y-intercept, the x-intercept(s), the vertical asymptote(s), the horizontal
asymptote, and possibly getting one more point to the left/right of the vertical asymptote. Then state D & R.
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Word Problem We! \\ %\(\\ S\/\ O MESLL&(, L
Kitkat Kondos makes kitty condos. They have $10,000 per week in fixed operating costs and each kitty condo
costs $12 to make.
1) Write a function representing the cost of making  2) Createa table and label the columns: Number of
x kitty condos. Condos, Total Cost, and Cost per Condo. Use 25,
50, 75, 100, 125, 150, 200, 250, 300, 400, and x
for the number of condos.

3) Write a rational function that represents the cost
per condo of x kitty condos.

4) Draw a graph showing the relationship between
the number of condos and the cost per condo.
Use your table from #2 to determine an
appropriate scale.

5) If the cost per condo was $13, how many condos
did the company make?
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